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Statements 1-13. If F (filse) is circled, & brief explanation or counter-example must be provided in the space immediately
below the statement, or no credit will be given.
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Three points always determine 2 unique unbounded plane,

could |k concident or cdinaar—

Two non-coincident points abways determine a unique line,

Two non-coincident, unhounded planes always intersect in a straight lime.
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Spheres, tetrahedrons, and cylinders are all developable surfaces,
tha.re_s are not
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Two lines always determine a unique plane. 7 Lot SWL
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For any two lines, we can always find a single plane containing both.
couwld e ghew

For any two lines, we can always find a single view with both lines in true length.

In the cutting plane method, the cutting plans is constructed to contain both the line and the
plane whose intersection we wish 1o 5
Doesnt coriian plane

In the cutting plane method, the cutting plane appears in edge view in both views,
ﬂn{:’ o ene-

The rotation method is a technique used to find the true length of a line.

The minimum distance between two non-intersecting lines can be seen in a view where either
line is shown in point view.

The minimum distance between two non-inftersecting lines can be ssen in a view where the lines

appear to be parallel to each other
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Statements 14-21 refer to the line and plane below. For this section, you must once again write an explanation if you select
“false™ as your answer.

@ F 14 Line BC is in true length in the F view.

T @ 15.  Plane ABC and line DE intersect somewhere off the bounded plane.
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@ F 16.  The visibility of line DE is correct in both the F and the H views.

@ F 17.  The true length of line AB can be found using the rotation method.
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T @ 18.  Planc ABC is in trae shape in the F view.
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i @ F 20. A view which shows line AB in point view would show plane ABC in edge view.

@ F 21. A view which shows line DE in point view would show plane ABC in edge view.

Staternents 22-28 refier to the contour plot and land profile below. Note the direction of “North™ and the horizontal scale
used for the contour plot. The cross-hatched area on the profile plot represents a vein of coal, seen in view. For this
gection, you must once again write an explanation if you select “false™ as your answer. Al are fa prekrs
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T 22, Asyou walk from A to B, you would be goi ill the entire time. :
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L 23.  The profile of the land from A to B is correctly shown.
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T (F) 24 The strike of the cosl vein is Due South.
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The direction of maximum fall of the coal vein is Due North.

The thickness of the coal vein is approximately 5 m.
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The dip of the coal vein is 3.
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elevation, and the top of the vein at approximately 125 m in elevation.



Ec{.}«']-"'h‘f'i'f:

. HName

' Statements 29-40 refer to the solid object below. Mo explanation or counter-example required for false ststements in this
section.

B
() r 29, The visibility of line AQ in viewplane F is correct.
T @ 30.  The visibility of line NP in viewplane F is correct
T (f:; 31. The visibility of line JM in viewplane F is correct.
T !:'f) 32.  The visibility of line EH in viewplane F is correct.
J;" F 33.  The visibility of line AB in viewplane F is correct.
{?)I F 34 Thevisibility of line AD in viewplane F is comect
T (F) 35  Thevisibility of line MP in viewplane P is corect
(T) F 36 Thevisbilityofline LO in viewplane P is correct,
T (F 37 Thevisibilityofline BK in viewplane P is correct
T |_‘."1=“s 38.  The visibility of line CJ in viewplane P is correct.
'r‘ F 39.  Thevisibility of Hae DI in viewplane P is correct.
T (F) 4.  Thevisibility of line EH in viewplane P is comrect,




